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The population of a district is 385000, out of which 168000 are males. 52% of the population is literate. If
21% males are literate, then what percentage of females are literate?

et e Y sterwEar 385000 B, s 168000 T3 §1 5200 FTHEAT WER ¥ AR 21% Y¥9 AR § @Y WaR ARFemsit #

wfaera faraer g9 2 (SSC GD 2025)

78%

73%

76%

74%

The population of a district is 333000, out of which 213000 are males. 71% of the population is literate. If
71% males are literate, then what percentage of females are literate?

uw forer Y SeTaEar 333000 ¥, @ 213000 T3 &1 71% SIewEAT @AW §1 IR 71% TEY @AW §, A WaR Afenst &

gfaera faer gem? (SSC GD 2025)

68%

69%

74%

71%

The expenditure of Sudha is 175% more than her savings. If her expenditure decreases by 12% and savings
increase by 40.5%, then by what percent does her income increase?

HUT FT 4T 3HH g9 § 175% HAF §1 AR 39&F =97 7 120% Hr FA & oneh § 3R q9a F 40.5% Hr gy & weh &, a

3@ 3T A fraa wfawa #1 ggfer gefr? (SSC GD 2025)

4%

5%

2%

7%

The price of fuel decreases by 25%, 15% and 45% in three successive months, but increases by 65% in the
fourth month. What is the percentage increase/decrease in the price of fuel in the fourth month as compared
to its original price?

$ua & AT FAEG AT FGAT F 25%, 15% AR 45% FH 1 7F T, AfFT @S 7R T 65% gefar i a5 71 AT AR A

$ua Y FAd A 3WH qF FAd A Jo A B gfaera A gefarFA g§ 82 (SSC GD 2025)

Increases by 38.95%

Increases by 47.41%

Decreases by 42.14%

Decreases by 37.35%

What will be difference in population 3 years ago and 2 years ago of a town, whose current population is
110000 and which is increasing at a rate of 25% every year?

TF FE T qAAR TSI 110000 § TUT A gfdad 250 F X & ¢ W ¢, 3T% qF qUr 29§ qF A FAEEdr H Hw

7T FFIATI(SSC GD 2025)

13330

13530

14080

14430

The income of Raman is 375400. He saves 23% of his income. If his income increases by 27% and expenditure
increases by 50%, then his savings will:

A FT AT ¥75400 B1 TF A 3T H & 23% HY 9T FIT g1 ARE IHAY 3T F 27% F gefer et § 3R =ww A 500

e g ¢, oY 3uhr qua H I(SSC GD 2025)

decrease by ¥8671

increase by Y8670

increase by ¥8667

decrease by 8666

The price (per litre) of petrol increases by 85%. By what percent should its consumption be reduced such that
the expenditure on it increases by 11% only?

e & qed # (9fd ofiex) 85% #i geftr Bl 71 W WU # faraet wfdwa i FwA FT QY T S R A IS @y H

Fad 11% A gEfAr g

(SSC GD 2025)

46%

60%

40%

53%

The cost price of an article is increased by 15% and later the new price is decreased by 15%. If the latest price
of the article is 319,550, find the original cost price of the article.

Watch Video Solutions : - https://youtu.be/ogBUWW&tA4ZA
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BEST 50 QUESTIONS (ARITHMETIC)

TF IFG F FT AST A 15% A JE Al § 3R g 7 Av e 7 150 i FHA @ 71 IR avqg F1 adwaw 757 219,550

¢, @ aFg 1 IRfAF FT AT A1a FTATI(SSC GD 2025)

20,000

18,500

322,500

16,500

The power consumption of an electrical device varies directly with the square of the voltage applied. If a device
consumes 150 watts when the voltage is 120 volts, how much power (in watts) will it consume at 240 volts?

et fagga susvor A oo @, sequged dieedt & Tt F FTHFARAC ¢ IR 3THIOT 120 Aree dreedr @A W 150 A€

A @Ud FAT §, @ 240 e W g fhae! fAsrell (A€ &) @9a F? (SSC GD 2025)

a)550 b)650
€)500 d)600

The force acting on an object is directly proportional to its mass. If a force of 10 N is required to move an object
of mass 2 kg, what force (in newtons) is needed to move an object of mass 5 kg?

frell T W T qTeT I IWF FTIAT F HTHAACH g1 § IR 2 kg FEFA Aot TG H AfAAE FA F AT 10N
T FT IFRIFAT Bt ¢, A 5 kg FEIATT ATt TEG FY AAAT FA F AT IMaedw a9 (Fgea #) Fraam g2 (SSC GD 2025)

a)25 b)30
)20 d)15

Find the mean proportion of 5.76 and 0.88. (rounded off to two decimal places)
5.76 3T 0.88 T ATLATIITA (mean proportion) AT FFATI (B FAHAT TG a&F qUitfha) (SSC GD 2025)

1.2.25 )2.85
2.54 d) 2.34

0.25

2.5
The third proportional of %XZ&S and x0:25 x¥

z-025

’;21—'_55xz3-53ﬂ1x0-25 x 2 1 e A ARI(SSC GD 2025)
¥ y?
1. x3z3 2. x273
v v
3. x?z? 4. 372

. If x varies indirectly to y2 and if x = 78, y = 11, then find the value of x when y = 2.2.

It x, y? & SgcwAur § AR IR x =78 F Wy =117 A y =228 W x F AW Aq FFATI(SSC GD 2025)
1950
1995
1880
1725

. The third proportional to x and x + 100 is 405, find the value of x (where x > 100).

X YT X + 100 FT FAATTUTA 405 §, x FT AT AT AT (ST#T x > 100) &1
(SSC GD 2025)

225

125

115

180

. The fourth proportional of a , ¢ and bc is d. The fourth proportional of chz , % and C is

a, ¢ 3R be F1 TqEiaarEt d #1125, % 3k c F1 T W@ Al

a’c
(SSC GD 2025)
C
a
b
d

. The students in the three sections A, B and C of Class X are in the ratio 5: 4 : 7. If 15, 16 and 9 new students

are admitted to sections A, B and C, respectively, the ratio changes to 10 : 9 : 11. What is the total number of
students in Class X after the new admissions?

Fe X & offer qaeret A, B AR CH gt &1 arqara 5:4: 781 Il d7aer A, B 3k CHF waer: 15, 16 3R 9 7w Renfiat

FY waer faar Srar @, A JHeurT qgAHRT 10: 91 118 ST &1 AT VAU F qg Faw X H @At 1 gor wwaw fraed ¢2 (ssc
GD 2025)

210

120

Watch Video Solutions : - https://youtu.be/ogBUWW&tA4ZA
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150
90

. What is the correct descending order of the ratios 17 : 42,19:21,1:7,11: 13, 23 : 26?

AT 17:42,19:21,1:7,11: 13, 23 : 26 FT HEY HaeT FA F4AT 572
(SSC GD 2025)

23:26,19:21,11:13,17:42,1:7

19:21,23:26,11:13,1:7,17: 42

19:21,11:13,23:26,17:42,1:7

19:21,23:26,11:13,17:42,1:7

. The ratio between the original price of a movie ticket and increased price of the movie ticket is 10 : 13. What

is the increase in the revenue of the cinema hall, if the original price of the movie ticket was 3250 and total
3600 tickets were sold as per the maximum capacity of the cinema hall that is 3600 persons?

T @t Rowe A g Fora 3R 7 Reve i 9@ g§ Fod & @9 F7 Iqua 10 1381 IR T Reve Fr Fq Hwa 2250
aur R g A AfFaw awrar gt 3600 SAfFAAl F YR W Fa 3600 ReFe 3 v &, @ A=A gfer A sy & fraah
Faftr g 87 (SSC GD 2025)

%2,70,000
%1,28,000
82,000

%1,98,000

. Find the fourth proportional of 5V24, 3V10 and 315.

5124, 3v10 3R 3V15 FT Tguiegard AT HFATI(SSC GD 2025)
45

3

3.5

4

. 400 pears were bought at T1230 per hundred and were sold at a profit of ¥980. Find the selling price (in %) per

dozen of pears.
¥1230 yfa =3 $T g 9T 400 ATl @G 1€ 3R 2980 & ATH W AW AT A goter AverifaAt 1 @FT qew (X A) 7@

FY1(SSC GD 2025)
192
187
167
177

. 15 mangoes are bought for 3250, and 9 mangoes are bought for T200. If all the mangoes are sold at 240 per

dozen, then what is the profit percentage in the entire transaction (round up to two decimal places)?

15 3R 2250 F @O o §, 3 0 3m 2200 7 I v | AR W e 2240 9 ST A E@W W AA S F oA AR A

g3 et yfderd e § (avrerd & & FuEl a% quitfde)? (SSC GD 2025)
106.67%

6.67%

93.37%

66.67%

. If 50 bananas be sold for 160 at a loss of 20%. How many bananas should he sell for 31,540 so as to make 10%

profit?

IfT 20% $Y A 9T T160 A 50 Fof o T &, AT 10% FT a1 AHTod F& F AT 3T 1,540 7 Fdar FoF 99« AIfew?
(SSC GD 2025)

320

300

360

350

. By selling an article for 34,824, a man gains 20%. What will be his profit percentage (rounded off to the nearest

integer) if he sells it for 36,000?

T qEG FY 4,824 F dU W UFH AT F1 20% F AT g T IR 9 3 26,000 F A% A 3w any whaerd (RFean
qUItE T quitfaha) AT gham?

(SSC GD 2025)

49%

53%

40%

32%

. A dishonest shopkeeper promises to sell his goods at cost price. However, he uses a weight that actually

weighs 46% less than what is written on it. Find his profit percentage.

Watch Video Solutions : - https://youtu.be/ogBUWW&tA4ZA
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BEST 50 QUESTIONS (ARITHMETIC)

TF A GHFEGR HIS WA 1 FT Hed T I9a FT /a1 FIAT ¢1 FTAlF, T8 T W qME FT 394 Il ¢ s aoreT
aEag # 39 W O a9 & 46% FA g1 391 a7 yfaerd A ARATI(SSC GD 2025)

8704,
1 217

5
5 855%
843%

3. 27
863%

4. 27

. Kanchan sold 153 chairs and had a gain equal to the selling price of 78 chairs. What is his profit percentage?

Faor & 153 FRAAT I ik 3@ 78W$WW$WW§WI 3IgHT A1 gfaerd frder €2 (SSC GD 2025)
104%
114%
109%
99%

. . Ketan bought a shirt and sold it to Mahesh at a profit of 5%. Mahesh sold it to David at a loss of 24%. If

David paid 33990, then the cost price (in %) of the shirt Ketan bought is
Fad A vF A€ A A I/ AZA FY 5% A W AT AFT A 38 3T A 24% g W d=m AR 33 & 23990 F spITA

e, &Y Faer qarr @id 7 o F FT HqeF (X H) Aa AfATI(SSC GD 2025)
5150
4800
5000
4750

. By selling an article for 320,240, a shopkeeper loses 8%. For what price (in %) should he sell it to make a profit

of 12%?
20,240 ¥ el aEg F IGX W TF GHAGR T 8% A gfer ghelt &1 120 F7 @187 Hfota w1 & AT 39 397 a8 1 Fw

AT W (T H) ST AIRT?
(SSC GD 2025)

26,440

24,640

26,044

24,460

. Gill sold two dogs at the same price. In one, he gets a profit of 22% and in the other, he gets a loss of 22%.

What is Gill's profit or loss percentage?

frer v & Hea W A T =T ¥ vF A qw 220 F1 AT At Far ¥ 3 q@y W IH 220 A @l @l ¥ B o

7 gifer wfdera Far @2
(SSC GD 2025)

4.4% profit

4.84% loss

4.84% profit

4.4% loss

. 41. A retailer buys 12 pairs of shoes for ¥22,400. His overhead expenses are 31,600. If he earns 328,500 from

the sale of these 12 pair of shoes, determine his profit percentage.
TF GaU faFar 222,400 F 12 NS @ @lear ¢ 3WHT AN @A 1,600 &1 ARG q@ I 12 S St Fr Ry & 228,500

HfSta Far &, ar 3@t @t gfdera A AFTI(SSC GD 2025)
20%

17.5%

19.25%

18.75%

. A shopkeeper marks his jackets at 18.8% above the cost price and allows the purchaser a discount of 12.5%

for online payment. What profit percentage does the shopkeeper make (correct to two places of decimals)?
TF GFFER, e W 38F FT Aed ¥ 18.8% 3fUF 7ew 3ifra Ftar § 3R wligr &1 ifeamsa spras W 12.5% # g

VeI AT 51 gFeaR A frcem gfaera omer giar 82 (3T qudad & & ¥UE aF A HIAv)? (SSC GD 2025)
5.27%
2.58%
3.95%
4.06%
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BEST 50 UﬁESTIUNS (ARITHMETIC)

If the selling price of five Bluetooth devices is ¥14,430 after allowing a discount of 26% on the marked price,
then the marked price of one device is:

i 3ifFa Ao W 26% A §T &R F G T So[gy IUHWI F AFT 7T T14,430 §, A UF 39FOT & A Ao AT

FATI(SSC GD 2025)

%3,000
%3,900
33,365
2,886

. If the marked price of an article is ¥7,895 and the discount offered is 4.2%, then the selling price (in ) is:

Ife Rt awq &1 3ifa Fqew 27,895 % AR & S arelt g 4.2% ¥, @ Rww e (X #) Fia AWATI(SSC GD 2025)
7,563.41
7,635.41
7,456.31
7,364.51

. A student was getting the following four offers on the purchase of a book:

I - Two successive discounts of 20% and 20%

II - Two successive discounts of 25% and 15%

III - Two successive discounts of 30% and 10%

IV - Two successive discounts of 5% and 35%

Which scheme offers the most discount to the student?

s fagamdt # wF gras f @le W Amfafa ar se e @ %
- 20% 31T 20% it & FAF Te
Il - 25% 3T 15% # aF FAF Te
11l - 30% 31X 10% A & FAF Fe
IV - 5% 3T 35% #r &t FfA+F e

Fiq-ar 3TeT gt # 9@ 30w ge e FIar 2 (SSC GD 2025)
I

il

1\

I

. The marked price of a platinum ring is 352,300 and it is available for sale at two successive discounts of 20%

and 4%. What is the selling price (in ) of the platinum ring? (Round off to the nearest rupee.)

T ClfeeTd IS F P Hew 52,300 T IR TE 20% IR 4% F Y FAF g W A F [Av suaey 7 wftaw s

&1 Rwa fqeg X #) fraan 82 (Mecan 1@ a& quifeal) (SSC GD 2025)
40,200
40,033
40,166
40,233

. What percentage above the cost price of an article should be marked so as to gain 25% after allowing a

discount of 20%?
TF g W 30 #7 eI A fhaa gfaera 3fF e sifra frar smem aiige @i 200 1 ge 3 & q1g 25% T 17

ST 812 (SSC GD 2025)
65.25%
36.25%
63.25%
56.25%

. Bipin offers a discount scheme that on buying 7 notebooks, get 3 for free. What will be the sale price (in %) of a

notebook with a marked price ¥185, if the equivalent percentage discount is applied?

e 7 Aegs @8 3R 3 qFT O FT oF BEEwEe T AGT F FAT 71 185 ifHa Aew areht vF Alegw w1 AT
T (X ) fraan ghm, afe gagew gfaera ge amy #r Swdlt 82 (SSC GD 2025)

129.50

130

130.50
129

. The marked price of a chair was ¥19,200. The shopkeeper was offering it for a discount of 20%, but on further

bargaining agreed to offer a successive discount and finally sold the chair for ¥13,824. What was the second
discount offered by the shopkeeper?

v FHl F1 3HfFT FeT 19,200 AT| FFEER FH T 20% HY FT & T AT, AfF I AeTed FA W q¢ FAF e 3 &
fov weaa & wrm 3k siaa: FHt 213,824 F 39 & gFER gErr & 7 qud ge fraed o2 (SSC GD 2025)

Watch Video Solutions : - https://youtu.be/ogBUWW&tA4ZA
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15%
10%
20%
5%

. The single discount equivalent to three successive discounts of 16%, 10% and 25% is:

16%, 10% 3 25% #r et FAF Gf F AT & THd g AT MFATI(SSC GD 2025)
38.7%

43.3%

53.6%

4.49.5%

. A salesman offers a discount scheme of 'Buy 25 and get 5 free' on the purchase of notebooks in his shop. He

professes that a notebook costs him 10, but in reality, it costs him Z5. Find the difference between his profit
percentage and scheme discount.

TF Fewdd HUA gF A Alegw f whe W 25 T 3R 5 AFT a0 i ge TRA FT A a1 1 T€ @ Fan § R
TF AegF F1 AeT 10 U5aT ¥, AT awaa #, 3@ sEF qpd 5 Usar §1 3uF an vfaed 3R g Fhe F &g 3w A

FIATI(SSC GD 2025)
42%
48%
50%
56%

. Mandar has two grandsons Ketan and Tushar. 11 year old Ketan gets some money from Mandar’s wealth and 12

year old Tushar gets rest of the money. But Ketan and Tushar will get money only when they turn 22 years old.
Till then the money is in a bank getting interest at rate 8% compounded annually. When both turn 22, they
receive the same amount. How much had Mandar given Tushar (in ) initially, if total money with Mandar was
324700?

FER & & 9 Faa A qUR § 11 7l Faw A AR A G ¥ Fo aw0fr Paeh § sk 12 affa gER #@ e geof
e 31 e Fawr R qUR 1 gawfr @t feeh oT 3 22 a8 & & SO a9 OF AR dF F T WA IR W w
T ¥ ¥ THgeftd 8% af¥® & W sarer e 99 =i 22 a8 & @ I € @t 3 WA vy Ped ¥ IR AAR &
U F R T24700 off, A HER A JUR Y eI A fraeht gwaf¥r (2 H) & e (SSC GD 2025)

11625

13175

12825
11875

. Ashish has ¥1617 with him. He divided it amongst his sons Arun and Mahesh and asked them to invest it at 10%

rate of interest compounded annually. It was seen that Arun and Mahesh got same amount after 14 and 15 years
respectively. How much (in ) did Ashish give to Arun?

Imefiy F 9T 1617 §1 36 @ IR A I3%0r IR FAU F T wic RAr aur 3% 3@ affE T @ T @ A 10%
T oF W A3 &I F1 Fell I§ @1 AT fF 3007 3R AU & FAT: 143ﬁ115ﬁmmmm§§|3mﬁw#

HTOT F fFaelt ga i (T HA) & A2 (SSC GD 2025)
697
770
847
870

. A sum of Rs. X amounts to Rs. 75867 in 2.5 years at 12 % p.a., interest compounded after every 10 months.

What is the value of x?
1

%xfrumatloma:mamﬁrmmhlz%aﬁmmawzza&#‘ﬂs,ssn’raﬁhh x ®1 A ra=n §2
(SSC GD 2025)

56000

58000

55000

57000

. If at same rate of interest, in 2 years, the simple interest is 342 and compound interest is ¥I51, then what is the

principal (in %)?

IfE AT AT X G, 2 ¥ H, WURVT AT ¥42 qUT THE A 4T 51 §, @t Heret (T H) AT AfSTI(SSC GD 2025)
44

49

42

53
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https://youtu.be/ogBUWWtA4ZA

44.

L0 TP AR TP

a0 o

ppo o AR o

apn o

BEST 50 QUESTIONS (ARITHMETIC)

When difference between compound and simple interest for three years is 3228 at 4% interest per annum, the
principal is X

afE 4% T sarer aX @ it ant & TFHEfY SUTST TUT WIURT AT FT HaW 2228 §, @t Haus (X #) 71a HfITI(SSC GD
2025)

46875

48075

47295

46300

. Yogesh invested some money in HDFC at 4% per annum rate of interest. What would be the corresponding simple

interest (in ) if after 2 years, Yogesh got ¥229.5 as compound interest, considering annual compounding?

AT & HDFC & 4% a1f¥e SATel ¥ W & 4aifar #1 e fram afy 2 ant & arg, Akt A o w7 @ awgefr g aa

THGET SATST F T H ¥229.5 WTIed g1 8, A Werd WIUROT AT (X #) F41 112 (SSC GD 2025)
235
225
240
220

. Vipul invests a sum of 35400 and Vijay invests a sum of ¥9400 at the same rate of simple interest per annum.

If, at the end of 4 years, Vijay gets 3840 more interest than Vipul, then find the rate of interest per annum (in
percentage).

aIf¥E WIUROT sqrel 1 FAW X W fager 5400 i TR 71 e Fwar § 3R RAeg 29400 Fr R #1 e wwar 81 Al 4

a¥ & 3q A, faew F RAya ¥ 2840 30w sarer groa gar ¢, O o sarer @ ax (wfaera #) a ATSTI(SSC GD 2025)
4.25
3.25
7.25
5.25

. Find the simple interest (in ) on 32000 at 6.75% per annum rate of interest for the period from 3 February 2023

to 17 April 2023.

%2000 9T, 6.75% dI¥® sITe &¥ UX, 3 BIE 2023 @ 17 3rder 2023 d« &7 39 & fAw Wremor sqrer (X &) &7 v HfSw|
(SSC GD 2025)

25

28

27

26

. The average of 21 numbers is 74. The average of the first 11 numbers is 72.8 and that of the last 11 numbers

is 77.2. If the 10tk number is five less than the 11tk number and if 10tk and 11th numbers are excluded, then
what is the average of the remaining numbers? (correct to nearest integer)

21 gEar3t #r taa 74 1 wuw 11 et #v sitwa 72.8 € 3 sifaw 11 seamet & sitaa 77.2 &1 3fe 1odt e, 114t
wear & uig w4 ¢ 3R IR 104t sk 11t et w ger R Sme, A Av d@Eant w1 stwa fraen gen? (Meeaw quitE

a® quitfére) (SSC GD 2025)
71
70
73
72

. There are 81 members in group A, 29 members in group B and 70 members in group C. All the members of

these groups went to a restaurant. The average amount spent on each member of group A, B and C is ¥467,
2117 and X378, respectively. The total average amount (in ) spent per member is:

WA AH 81 WEHT, W B A 20 Weww IR W CHA 70 weww ) 3 wogl & welt weww vw Wi H v wag A, WHE B
I TAF CF TAF WerT W @Y #1715 sitwa fkr waer: 2467, T117 3k 2378 ¥ wiw werw @A 1 a§ T sitwa uR (2

#) A1 a AFFTI(SSC GD 2025)
375
380
376
377

. Aditya appeared in a competitive exam in which the final grades are determined by three different exams of

100 marks having weights 20%, 35% and 45%, respectively. If Aditya scored 80, 70 and 60 marks in these
exams, respectively, then what is the weighted average score of Aditya?

TR v wfaaelt qdew & amer dar & S 3ifas a8 FaA: 20%, 35% 3 45% HTRET arelt 100 3T Fr e rerer-3rerer
a3t garr AuiRa e smar &1 afr sl s wdamat #F wwen: 80, 70 3 60 3w wed Fam §, @ IReT F wRa
3| 3iF (weighted average score) frder 2 (SSC GD 2025)
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67
66.5
67.5
66

. If the average marks of three sections of Class X, having 35, 40, and 25 students, respectively, are 90, 88, and

80, then the average marks of all the students of Class X, is:

afE wam X & e A, T 35, 40 v 25 Ragadt € F sitwa 3w Faer: 90, 88 31X 80 §, &t wawm X F walt Rgmfiat &+

g 3w A Ao
(SSC GD 2025)

76.8

78.6

87.6

86.7

. A medicine has 60% substance S and 40% substance T. If the cost price of S is increased from ¥30 to 340 per

unit and the cost price of T is decreased to 320 from I30 per unit, then the cost of the medicine will by
%

wmﬁw#GO%m&saﬁTM%m&Tm@gmuﬁsmmnﬂfsowﬁrsmé#mﬂomméwﬁmm

T THFT AT BT FE e 20U sFE M R e A ABRT F e |
(SSC GD 2025)

decrease; 6.67

decrease; 3.33

increase; 3.33

increase; 6.67

. A refinery produces 3 grades of gasoline: Regular (85% octane), Mid-grade (90% octane), and Premium (95%

octane). If 200 barrels of Regular, 100 barrels of Mid-grade, and 100 barrels of Premium are mixed, what is the
average octane rating?

s Rl 393 & el #1 3eurea Fe }: WA (85% 3iFea), As-a5 (90% 3ifwes) IR ffFTs (95% i) afy

200 R WX, 100 N Az-Az 3 100 Rer AfFATw Ft Fremar Fme, o sitwa sifres War = ghf
(SSC GD 2025)

88.75%

88.25%

89%

88.5%

. In a race, there are 100 bikes, consisting of yellow and green bikes. The average speed of all the bikes is 35

km/hr. The average speed of the yellow bikes is 55 km/hr, and the average speed of the green bikes is 30
km/hr. How many of the bikes are green?

T W & 100 ai5F H1er A &, e dielt 3k e e anfaer &1 wsht st fr sitwa =@mer 35 km/hr &1 Al arEHl A

sitwar arer 55 km/hr &, auT g gt @ 3itaa Trer 30 km/hr @1 fRast a1gd & &2 (SSC GD 2025)
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